4C3 - Estimate and use inverse operations to check answers to a calculation

339 + 442

Which calculation gives a good estimate of the answer?

2181 + 3824

337 + 424 33 + 42 400 + 500 340 + 440 Which is the best estimate of the answer?
8000 6000 5000 7000
L4843 - 2772
4832 - 3171

Which is the best calculation to estimate the answer?

4000 - 3000 4832 - 3170 5000 - 0 4800 - 3200

Which is the best estimate of the answer?

2000 1000 3000 4000

978 - 239 = 739

Which calculation would you do to check the answer is
correct?

1000 - 739 978 + 239 739 - 239 739 + 239

7351 - 756 = 6595

Which calculation would you do to check the answer is
correct?

7351 + 756 10000 - 6595 6595 + 756 6595 - 756




